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Questions

When did scientist become able to cut and unite DNA?

When was the work on Genetic Engineering started?

When the complete map of human genome was published?

Human insulin was prepared by becteria first time:

The human genome project was started in:

An embroyologist of Scotland in 1997 produced a sheep (Dolly) from the body cell of an
adult sheep is

What an wmbrologist lan wilmot from the body cell of an adult sheep in Scotland 19977?

An example of carnivores plant is:

Biospher surrounding the earth is about:

Abiotic component of the ecosystem is:

Organisms in the ecosystem that are responisble for recycling of plant and animal wastes
are:

Which one of the following is a tertiary consumer:

Answers Choice
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1945
1924
1944
1970

1930
1940
1944
1970

2002
2001
2005
1902

2002
1990
1970
1978

1990 AD
1991 AD
1992 AD
1993 AD

Lan Wilmot
Buffon
Darwin
Lamark

Sheep (Dolly)
Goat

Cow

Buffalo

Mosses
Ferns
Rose Plant
Sundew

17 km
18 km
19 km
20 km

Producers
Consumers
Decomposers
Light

. Producers

Consumers
Decomposers

. Compititors

Oow

. Larwa of butterfly

Deer
Rabbit



